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Unit 4 Day 14: Review Day

Focus Question: Can I solve a sy sen by c/mmmq an efficient method?
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etermine which system has zeto, one, and ihfinite solutions. | ‘xplain why (,a(,h occurs. If 1t 1S one\solutlon

decide if the lines are perpendicular. Check your answer by g:,la[)l]ll]}:, . (-44Q) (& d\o)
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Do your work for the following problems on your.own paper.
Problem Variables | “1 Eqﬁatio-ns f:’.gst Method | Answer

Phone company A charges a C CO ot | CP\: L\'D (\(\T?)D S‘:(x\ = C:‘B(K\ l_(‘ LBOLK

customer enrollment fee of $30 and
$40 per month. Phone company B
charges $60 per month but only a
$5 enrollment fee. When would it
be @ to choose > company B?
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Marsha is buying plants and soil for |
her garden. The soil cost $4 per

bag. and the plants cost $10 each.
She wants to buy at least S plants
and can spend no more than $100.

" A breakfast menu hst 2 eggs with 1

Q sausage patty for $2.23 and 3 eggs
with 2 sausage patties for $3.76.

- How much would you expect to pay
for the Glutton’s Breakfast of S

 eo
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bs and 7 sausage patties”?
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You pay $24.50 for 10 gallons of
gasoline®ind 1 quart of oil at a gas
l :({\ station. Your friend pays $22 for 8
- "% | gallons of the same gasoline and 3

- quarts of the same o1l. Find the cost
~of 1 gallon of gasoline.

Kennedy High School was selling
1 bumper stickers and shirts as a
fundraiser for their student council.

They were keeping orders similar to
the table below.

C | B i o {bb" L\% B\N |
ustun:ler umper Stickers | Shirts L Total ‘ ﬁ}( _(\‘,
Margie 2 5 53 %‘-’ QDD L

Jack 3 4 48 ’

-.‘ ’ _'i‘ '-Lm- o Ul B e e L=

They know Janice bought 1 bumper
sticker and 3 shirts. How much was
Janice’s total?
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